L N | T TS

wREE R (H Unit)
e : 2016-2017 [Set-1]

o), ‘Poufts’- some gig-

A. 93 a7 7w B. 2% ceraea wae
C. fofis s o D. @R
F[INT : BAOT - OB 94 OF |
T ufow Fra Wiz g@e |
Anms : C.
ox, “Hew” o 7
A. STTER T7 B. Twet
C. o D. fHifag
TG : T (R of)- st/ - mf&ﬂnﬂ.__‘__._&_.:
Ans: C. T < e

o®, TR NE[ ATad GaTIE FRD?

A. dpoe-35ab s B. »r38-svq0 3

C. Sb30-5bb) fie D. srud->85 s
YL : @ TRCF NG F0EA ST 3638~ 5&159 ALl
o fofi ToiER ForerE TR B s TR WG A
S8 AT ¢ W Taie I @Ie 39 AR 35 G
TPraac A |
® ©fF &S] T TR - AR I | belL
o FRpE- Fererem e, st sfrered, Farr, geman
Ans : B.
08. "B TR IMYRIDT 3T WY Z0R-

2016-2017 (321)

08. You can keep my iPod if you like, I anymore.
A. am not using it B. Doesn't use it
C. Didn't D. Don't use it
[T de‘tm:tmawmmsm
Grammatically 5f5= =1 ;
Ans: D.

09. The price by air from Dhaka to Kolkata is
than the price by train.
A. higher B. A lot higher
C. A more higher D. None
T[N BT higher P | 394 sentence B adjective
@9 comparative degree (% Witg |
Ans : A. _
Teacher asked students to use color pencils during
art period. (Which word is a compound noun)?

A. Teacher B. Color pencil

C. Period D. Students
et @W%m 4 & T G noun 6
@ O compound noun I |
Ex: 11=Cﬂm‘+?em‘.ﬂ : v S
Ans &iltﬂ A

11. Which of the following spelling is correct?
A. Surveillance B. Survaillance
C. Survellance D. Survailance

iSeﬁwéule wiferr

Smugglenmimm.

IMT : Recently - e a6 @i adverb. Adverb Fumee
sentence 99 WPCS, (¥ WA verb «F #ita ad_]ecttve
IS T |
Ans: C.
07. However, there are number of places and events
that must be seen and enjoyed if you are in Dhaka.
A. Preposition B. Conjunction
C. Interjection D. Adjective
MY : However - I8 &/%0 | 4t @3B conjunction |
Cm;mchmaﬁsmtmeewmﬁ!'ﬁmmml
Anms : B.

Awﬁﬁ B. T@= .weaﬁf mmf,,ﬁ_
C. womid D. W18 Y@@ (@ Ans LA L E Sual
T : Ry ey wivE- We have recently entered — S agreement with
o Q153 3 - ‘ﬁ‘!ﬁ' . C'ﬂm G - mmm : the islan co-operative soclety
. m wewed ,ﬁm mw : A. no preposition B.in
Ans ¢ C. into D. upon
05. @mﬂ; e —— MYt : Preposition MMMM equivalent & S
A. s B. fem word 3 Y & 41 | Q41 p mmmf
C. swd D. ¥zerére Fa< Enter into - mwrfqmw} R 2
TN - e - Bes w0 | Ans:C.
Ans : A. 3 13. Which of the following sentence is correct :
Unfortunately they haven't been paying on time recently. A. Itis you who is to pay.
A. Vearb B. Noun T B. It is you who are to leave.
C. Adverb D. Adiective . 16 you who js late.

D. It is you who has won the prize.

TN : AXF who @3 intecedent 'it' Witg ©1% 'subject 'it'
W has 373 M’QW{D)whnsmm s
Ans: D. P
The synonym of ”Stalk" is-
A. dive B. chase
C. ornace D. prowl

Tt : Stalk - hqpsmwm
Chase - 1@l %31, #1631 21




15.

19,

The feminine gender of 'murderer’ is-
A. murderer
_ C. m

D. murderee

B. murderess

the floor".

g "He lionsg - pthesennl'tfdlon

"The writer would __coffee for next two weeks",

A. Cut into
C. Cut off

B. Cut out
D. Cut‘ m‘t

Translate in English “cit ot =tz arem 33"
A. The wind is blowing
B. The wind is making sound
C. It is windy

The wind is howli

21. oS 4aTew e R pF, 2uF © IpF o @0

aww o RNl oot srwaten wfton whafbx v srtwatr
TRICE Y& F21 T POLRFYG FS A7

A. 3 B.3

C.5/11 105

22. fe e BrrGtTa e AT AERey

In
B.V—Ae

T o e g

ARTIRTS 10 IW FRET 1 5 € Wl Rl @y
2km T SR @ IS
A 1.6 x10° m/s

C. 1.6 x 10" m/s

B. 1.6 x 10° m/s
D. 1.6 x 10° m/s

A. 94.6x 10"
C. 4.6 x 10"

26. <= Ton mmmz&mIMWW!

A.+04D B.-4D

I T Fe?

A. /2 B.®

D. 49.6 x 10"

: wmwmmﬂmmtmw

B.9.46 x 10"

C.+4D D.-0.4D

C. 2%

_ D. 3xn

A=i+2j-2k @& B=2i+)+k remmafE e
A9 B. 19

C.V19 D.6




ca | ']

B. /270 rad s™
D. n/ 10 rad sl

A. /180 rad s
C. /21600 rad s

1

A. v < (tanfrg) 2 B. v < (tanfrg)

1 1
C. v> tanfrg D. v > (tanfrg) 2

Il 600 kg = @l “IETE e RET 0.1 ms @Ot
wora B BaIe e 1S Y TR-
A 294W _B.550 W __ C.588 W D.600 W

e

AV S T g T
e O ek ’ﬁ"\-c—- oy
hesitatd = [ 5 o SR S o,
K-...d:-‘d-_r,{' . T el s ST (R

ﬂwm‘mﬁcmmmw- 34. #rm BFeRm — AfISeR o SEer omem 1dB

eI T |

3 3 &7 T Y T 14 ms™ Gt e W e |
@38 e @3 NG 91 ms™ STwET G TR
w7 | GF 1T v e e

A.1ls B.12s C.13s D.14s

. 20°C oemam «fw Softew ze 0.05m 7w 3T
S SRTE Or e (7 S I g OR W
7.28 x 107°N, =N o801 0 %1 | [t wert =oiey]

A. 7.2 x 107> Nm™ B. 7.2 x 107 Nm™
C.7.2x107° Nm™ D.7.2x 107" Nm™

TY o 1 kg w2 PR <o e 77 o vl 908 | @
¥ TW0 65 @ 30my/s @ e T | IO W FO?
C.30N__D.40N

A. 10N B. 20N

| = o3 ane vy fen R war ofje e s |
@ Y 120Q G @S IE I SR« SR
T T | TR G TS

A 12Q B. 120Q

C.20Q D.10Q

MY <=t s s @RES RS 1A R BT |
e {eT e 1.25V | fwmaets qi s
: A.SQ. B12350 .C. 1259[).0.8(2




S R i 11

41. = R IR cwam 2.0 x 107 m® o AR 79
ftm 0.01 A R eaig o $edte freter oo Fe?

A.2x10"° Am B.2 x 10~ Am?
C.2 x 107 Am? D. 2 x 107% A’m?
T : T e,

M=1IA=001x(2.0x 104 =2 x 107° Am’
Ans: C.
X- ST Tog waEe P 3 4w (0, 2) ¢ (6, 4) R qEf

el @ P R g A e

A. (6,0) B. (4, 0)

C.(6,2) D. (2, 4)
[t : 4fa, P (x,0)

A =01+(0-2)* =y (x~6)? + (0 - 4)
SR+ 12436416 x=4 8
.. o (4, 0) e
Ans B.

a=fb st (x,, y.)ﬁ“{ﬂtﬁm‘!ﬂﬂmﬂ o
wr Zba 1gad «fte Wt @ Repe TReRe @@
s sl A =)

A. i-r-X:l B. l-{-l:[
a b X Yy
C 2gdi=] D. —+-L=2
X N XN
TN« 42, @ e i+%= L

4R, a/2 —_11 >a=2x
b2=y; =>b=2y

7 s g SR 15 Yo B D
X 2y XN
Ans : D.

M x— 3y— 2 = 0 ReweR B p @B R @ w1 (2, 3) @
(6, —5) R 2 ot st | Rgfon g Rdfa o
A. (4, 14) B. (6, 14)

C.(14,4) D. (3, 6)

T - W (C) T, (14, 4) 7 x — 3y — 2 = 0 =

e w02 | e fesafo e e Bo R |

Ans: C.

45. x+2y+3 = 0 @R O FERFE @ 38 (-1, -1) =
(3, 2) Ry w2ft ficn witars 302 | 3als il Ao =3
A -xX-y=-3x+3y=0
B.X’+y -8x+7y-3=0
C.3x°+2y +2x +y=0
D.2x+3y - x-y=0

T : S (B) 0, 3 (4, ~7/2)

@, -7/2) =5 x + 2y + 3 =0 @ s 39 |

Ans : B, ;

46. (4, -5) cvuiffE <=l 38 W Ry fien @1 o 72
T w1 T st weet oo e ot A
A x:8y:10 B.x:10,y:10
(35 S e is i D.x:15y:8

2016-2017 (324)

! : (4, —5) EEREE 3 PR W e, c=0
- X T 4 et = 2y/g% —c = 2y4% —0 =8

y I e W Wt = 2yf2 —c =2y52 -0 =10
Ans: A,
47. (1, -3) aRFE @3 38 2x — y — 4 = 0 @ =
3 | Jefbs e Afe 3
A.3x*+ 3y — 10x+ 30y +49=0
B. x>+ 5y + 20x — 10y +29=0

C.x>+y* = 10x+ 10y +20=0
D. 5x* + 5y* — 10x + 30y + 49 =0
e : wop (D) 2T, 5x° + 57 — 10x + 30y + 49 =0
= x+y - 2x + 6y + ?__.0
mmtl =9
Am PEte s dans :
3x +4y2 IZWWGMW-
A. 1/3, (4, 0) B. 1/4, (+3, 0)
C. 172, (+1, 0) D. 1, (£2,0)
e
T "_.p.!'__
4 3

Bk
S Egsfare, e= 1= =—
VA2

ToneE, (+ae, 0) = (+ 2.%_,0); (#1,0)
Ans: C.

49, - @@ FF IS TM 2i+j-k 3i-2j+4k @
i—3]+ qk @& R o7 3% e e
A7 B.6
C.3 D.8
2=
ANGT : GIT ARSRA LI, (3 ~2 4 |=0
BT

=2(-2q+12)-3(q-3)+1(4-2)=0

=-7q+35=0=>q=5

Ans : C.

X'log,x + Te*cosx 9% wwzS Ay 9 |

A. 7(log.e + 2log,x) + e*(cosx — sinx)
B. 7x(log, e +2log, ) + (cos x —sinx)
C. x(logae + 2log,x) + 7e* (cosx + sinx)
D. x(log,e + 2log,x) + 7¢* (cosx — sinx)

AT di(x log.x + 7e*cosx)
X

L gl log.e + log,x.2x — 7¢".sinx + 7cosx.e*
X

= x (log.e + 2 log.x) + 7€ (cosx — sinx)
Ans : D.




3te fEwfa e vo2

A. 15cm, 15¢m, 30cm B. 15e¢m, 20cm, 25cm
C. 20cm, 20cm, 20cm D. 15cm, 10cm, 35cm

51. <3fb fargrem AR 60 cm <2 WS 150 cm’ = -

T : ﬁwmﬂWMWmmqml
@I oA (B) e (C) Aoy |

ﬁlW(C)wﬁmm=% % 20 x 20 =200 cm®

W(B)mﬁgﬁm:% x 15 x20=150 em®
Ans.

w2z 3 w2 I & o T |
A k<859 k> | B.k>85=qrk> 1
C.k>85wmark< 1 D.k<85==aik <1

B k-@a e T Gk + )X +k (Il + k) x+9=0

M : TAGTAN A @ ST A, b — dac > 0
= (11 +k)’ 4. 3k+1)9>0
=121+ 22k + k* — 108k - 36> 0
=’ —86k+85>0 e

=(k-1)k-85>0
S k<lork>85

Ans : C.

B p=|2 2]«20{“; _02 :;JmPQ-ﬂmwr
A.[4 1 5] B. 4[1 -1 -2]
C.4[1 1 2] D.4[2 1 2]

-1 =2 ~]
=[-2+6 -4+0 -2-¢]
=[4 -4 -3g]
=41 -1 -2]

Ans : B.

54. a, b, ¢, d, e, f FFReT (T Eb wwy W oAl
Reviowm et fife #3, @ ol R seors <
T IR 4T |
A. 46 B. 96
C.23 D. 69

WYY = FATF G F99 GRBCA G5 (< e

=2C|X4C2X3!+2C2X4C1X3!

=72+24=96

Ans : B.

55. ABAHONI =wfbe 3fam = af¥ia 3% 3 fig e

YT eyt ey = |

A. 135 B. 125

C. 90 D. 100

Mt : ABAHONI *tsm 7 6 auf 2 5 A wiem |

. 3 15 2o fem i % et = OP, + €, x % =135
Ans: A, ;

: 2016-2017 (325)
56. (x" — 2x)""-a7 RyfeTe x'° @ = I |

A. 3360 B. 3630 C.3330 D. 6330
gt : (x° -2x)w
_ 2x10-16 =
2-1
o x' @Rt =19C, 17, (<2)* = 3360
Ans : A.
57. 22 +4°+ 6’ .. .. .. + (2n)’ €@ e fdfa 7 |

A.%n(n+1){2n—l) B,%n(n—]}(Zn*‘-I]

2 : ;4
[l 3 nn+1)(2n+1) D.3

P :2° +4°+ 67+ ...+ (2n)
=02 (12 + 224+ 3+ .. +n%)

nn+1)2n+1)

=4, %n(na-.l)(znﬂ) = —En(n+l){2n+l)

Ans: C,
58. M QAR 60% W THRTED JIENEA AN &E | 4
o uR @3 WE 79 ReW (Randomly) féfers
MR, TN T FAATE ) & QER THRAD IR TG

(Probability) o7
A. 0.0256 B. 0.35395
C. 0.35392 D. 0.45392

TRGT : T A1 100 20 40 &7 5D A4t zre Ifies
L. FNTH () & BT SO 99%F 90 |

*e
C. RIS = 0.0233
" C4

Ans: A,
59. aFe Ruerer iR @S Tk 290 5% firs Srem 12%
F | W Tk 30,000 Remn 21 o 5w 7797

A. Tk 2890/- B. Tk 3870/-

C. Tk 3790/- D, Tk 3890/-
[ S = 290 + 30000 x 12% = 3890
Ans: D.

60. I x R y T ¢RRMRSF prime number T @ x, y < 70
T, O x «RR RO 05 R B s
A2 B. 4
C.5 D. 6

A : ARG, 2 AT Wog 7 GAfer< Fe ey, Gy
T NG 5 TS AT A

Ans: C,

= x| %< x < 1/} @ B/A = (x| AN

negative numbers} Sz B 76 gt
A. All negative numbers B, All positive numbers

C.ngg% D.n<x<%

YT : A &6 99 A9 element positive CTZE B &
=2 Negative elements e T | ©@E B/A, All
negative numbers TS 7E4 |

Ans: A,




917'5‘«'(:?1‘1’5\?

62. uﬁA={xllx—|l<}{0}.B={x

@, C={x |0 < x < 1.1} ®&®" (AU B) U C GBI
A x<1.1 B.x<1.]
ee D.-w<x<1l1

1 9 11
{ hx l|< —l<—}={—<x<——}
: 10f (10 10
= {x |09<x<11}
{x| All negati venumber} {—m <x< 0}

= {xo<x<L1}

~(AUB)UC= {—w<x<lLl}u{0<x<1l}
=-m<x<].1

| Al negative numbers}

"'?T:%.

il

0 o

Ans: A & D.

63. %/ +1<0, wPrreiba x o 3w T

A 0<x<-1 B.—w<x<-2
C.xs-Y D.x<~1

[t :

Ans : B, 7
64. 7@ 10, 14 and n <3 1% § W § 97 B AR @32 12
w93l 12 97 (6TH I TF, O n 99 T e I T
A =12 B. -1 C.0 D. 12

T 8 < 10+14+n

%+ 1€0=> % €l =3x<-2=>-00<x<-2

<12

=24<24+n<36

=>0<n<12

Ans : C.

65. i x = Y1 e feww e SHH 12

A. Onlyone root : x=1  B. Two different roots
C. three differentroots  D. Solution not possible

[T : x = wzl,m,mz
Ans: C.
66. T polynomial 14 x'— 3x + 4x — 10 & (x - 1)
i vt 2t T, ST ST TR:
A. -8 B. 0 &3 D.2
YT x =1 W, X' —3x+4x—-10=1-3+4~10
=-8

Ans @ A,
67. (x—/xl)ﬁWﬁQﬂixmﬂﬁﬂr

A. 60 B
C. 15 D.7

Gt : =

1x6
Yol
o ox e A = °C,.1° 1 (-2)° = 60
Ans : A.

=2

2016-2017 (326)

ll:

68. T (a + 2x)° Fewba RYfea X @ T 320 T, R
a @3 I 87
A.2 B. +2 C.1
gt : ¥, °Cya’ .2 = 320
=802’ =320=>a=4+2

D. +1

Ans : B.
69. a x (V3 - 2) =3 x (3 + 2) e wpnw Fosa
@m e

A.20<a<36 B.a>25

C. a is negative D.21 <a<22

Tt a(V3-2)=3(43+2)

cwzs, 3 —2 Negative o10es 'a’ also Negative
Ans : C.
% “WRred ToreE I MR ST AW (3, 0)
@z (0, 0) T, SR RS e sl For
A.y=-3 B.x=0 C.x=3 D.x=-3
et : MER (0, 0), T (a, 0) = (3, 0) WdRa =3
- e sliemd x = —a=>x=~3
Ans : D.
oW sRieen TRt x° — 4x + 4 = 8y — 16 TW, o™
TATITEA YIS FO?
A.(2,0) B.(2,4)
TN x°—4x +4=8y~ 16
> x-2/=8(y-2)=>x-2Y=42(-2)
x-2=0=>x=2 ;
y 2=2=y=4
m@ 4)

.

C.(4,0) D.(0,2)

mmﬁmmwo),(s 0) @ (3, -3) T™
ﬁuwi&«wmwr
B.2.5 C.3 D. 4.5
w-m——° %
TR M =30

..—(0 ~9+0-0-0-0) = = =45

Ans : D.
5 a4 kg eorm 7 W @ e e g s
T 3 180 o, Siie wl F@?

A. 41 kg weight B. 1 kg weight
C. 9 kg weight D. Not listed here
TN R = 5% +4% +2.5.4¢08180° = 1.
| Ans : B.
4c0s°0 — 4cos® + 1 = 0 FRFWO T J@ 0
FRATHTH ©F AT T fAea @b
A. 11?14"6 B. 7nrc+3 C.nn+(— 1]""‘ D. .,n"t+g

4N : 4 cos 0 —dcosd + 1=0

= (2058 — 1) = 0= cosd = %,—-cos%
n@=2nnt
3

Ans: B




: 2016-2017 (327)

R || CTE T
R || [T

75. mmmtﬁm4ﬁ%ﬁmmmwfﬂ

WY (4F 2 m/sec’ FNGAT (SIS & Fawen | s
3 m/sec ST TSI T 47 ZRNF G iR

A. 1 sec B. 5 sec C.2sec D.4sec
PN : A, s, = 0+5211—t
ﬁq‘82=3t

~5=4>0-3t=4=-3t-4=0 . 1=4
Ans : D,
76. = 3§ 9.8 m/sec @ 30 it = 9.8 FoR few wom
o oo ATt 3 o | I o) e ofiee etetar
A. 4 sec B. 2 sec C.6sec D.1sec

[N : h = vsino.t + %gt2 s

= 9.8 = (9.8 5in30°)t + é—x9.8xt1

Sf-t-2=0=>t=2 gt

Ans : B.

77. Rrewies

A. Ratio of standard deviation to mean

B. Percent Ratio of standard deviation to mean
C. Ratio of mean to standard deviation

D. Not listed here

E 11k 111
m:%x:m=wﬂxw@a
Ans : B. R
78. 1,2, 3, ........ 22 PR Fee o1F Fo7
A 114 B.22 C.10.5 »P.13
m:w-—“n,:u
Ans: A,
789
EEw®A=2 1 7/aRC=A+L;%&®Cy
6 52
A. 6 B.7 C.8 D.3
78 9|1t 0o0][8 89
;O: C={2 1 7[+4/0 1 0|=[2 2 7
6 52|10 0 1|65 3
o B
Ans : B.

80. ¥W o8 A=3i-5] +y2k T o x W g
c=¥afa 7l et wer
A. 60°
C. 90°

B. 30°
D. 0°

TN : O = cos™! 3 =_m-l(l]= 60°
| 3_32 +52 +(2)? 2

Ans : A,

wgAER v (H Unit)

€ : 2016-2017 [Set-3]

01, "SEe RGN (RIS (PN TGS T

A. wgfe B. cagsi
C. &S D. gsifee
T + T ACHR oy GATR-

* TS T AN - SN |
o SRS o1 TW QI - A |
o 7 FA TOE AW - ceffs
» JSI 5a (@ - FLATS |

o SEEET (&Y - wefE |

Ans: C. _ e
02. il & e wiee w7 % oy
A. cerEd B. #qimt
C. cafEwsrgie D. ifisega

YN : @ 3 A 2 R - M{W;,
.ammmm T |

o ool B - Tan
o 7 e o & A - wgEh
Ans : C.
03. ¥t % Roefd 7w
A. *+3u="fTm B. #A+IR="7%R
C. BoTTA=5T D. “fas+vag=-ifiey
. n’iﬂ+ﬁ W -s::q-w W
° S 4+ F9 - EHF] -m-u-m TER
‘Ans : B. >

04. 'wm‘lﬁi'mw mmm
A. (57 TR gF °F B. &5 Tl TG a9
C. Qe R e D. =f¥ (ire wrst 58

T : o1 A1 AT AN - ST P SrAR A |

a7 wef 7o B fess o
Ans : B.
05. @M fog we aamt 3
A, =53 B. 374
C. &= D. sifee
TIT : TG -
» T - WH, T, & |
. & 9 - ufEE, o9, TR, Tad
o Ffewy - I |
Ans : D.
06. When I am not in hurry, I walk extremely slowly-
A. Noun B. Adjective
C. Verb D. Adverb

I Extremely - Toifes 13 |

@4 walk verb & modify 902 extremely 1% «ft @3
adverb.

Ans : D.




07. What is the adjective form of the noun "'act"'
A. Active B. Actual
C. Activity D. Actually

The idiom 'let things slide' means-
A. ignore B. lose gradually
C. reveal a secret D. set free

T : Act (N.) - 7% | Act (V.) -F1& F1
Activity (N.) - ¥&% 1 Active (Adj.) - &7 |
2w @re Option SHATET #fo% T2 Activity T | '
Ans : C.
I've just finished reading a story called Dangerous
Game. It's about a man who ____ his wife because
he doesn't want to lose her.
A, kill B. killed
- C. kills D. is killing
Mt : Sentence & (1tz® present form @ Wg @32 who
@7 antecident &7 singular a man w1tz ©12 kills 24 |
Ans : C. 3

Complete shutdown __ observed today against
new law.

A. Is being B. Can be

C. Is been D. Was been

Yt : Sentence B present tense @ UIW AR AXF
Complete shutdown 5172 S1% *A1%[ is being A |
Ans : A,

The father was anxious

the safety of the

daughter.
A. On B. For
C. About D. With

Mt : Anxious for - Sfég] | [793 oFed]
Anxious about - 5f¥® | [aife ]
Ans : B. ' e
11. What is the meaning of the underlined idiom:
This regular absenteeism is a bad business since
on work is being completed.
A. Creating ill-will B. No business-like
C. An unfortunate event D. Bad for business
TNT : <4 bad business @R Row, e (ill-will) 7@

A [WH |

Ans : A,
The synonym of adorn is-
A. Shock B. Destroy
C. Impoverish D. Embellish

et - Adorn - efew w4 |
Synonym : Embellish, Decorate, Beautify, Ornament.

Antonym : Uglify, Strip.
Ens : D.
The word 'beautify’ is a/an-
A. verb B. noun
C. adjective D. adverb

Tt : Beautify - 379 41 | 93 verb |
Noun | Adjective | Adverb
Beauty | Beautiful | Beautifully

Ans : A,

Mt : Let things slide - To ignore the things that one
is supposed to do. F% Let things slide - (ignore)
Anms : A,
is it difficult dispose waste?

A. Where, to, for B. Why, to, of

C. When, for, such D. Why, with, in
N : WEE why, to, of T | IRV TS HleTH why
72 | Difficult 93 preposition & to I | Dispose
«@2+17 preposition & of 71 |
Difficult to - ¥8%%; Dispose of - *ffFer =11
Ans : B.

"It was far my means''
A. With B. Through
C. Beyond D. Onto
e w:r-mmlwmnmsfarbeyond
my means - &1 fie S AL T2 | :
Ans: C.
17. My neighbours always play - music. It is so
annoying.
A. Loud B. Loudly
C. Slow D. Slowly
JYT : AR music (RAS) @3 noun SR @7 WA @I
adjective % | Loud (adj.) (o |
AoHR *FUEE loud F9A | ;
Ans : A, :
m His promotion was delayed for ___ formalities.
A. Red tape B. Red letter
C. Red hand D. Red pen

90 : Red tape - SIEH FEEE 1/ ATESEE SbaTe! |
Red letter day - @@ @ |
Red handed - /TS 7S 44 |
Red pen - 1 Ffer 274 |
At AT W T
19. Translate into English, “S& o3t 5t 30 SHmwa Tt
1 Sfpe”
A. It is right time we started
B. It is high time we started
C. It is no time to start
D. We can't be late
T : (I BCEE ASE W @RS it is time/it is high
time 39 & | It is time/It is high time 34 past form 367 |
Ans : B.
Find the correct form of the sentence, "'l wish I
(to be) king"
A. I wish [ was a king B. I wish [ am a king
C.Iwish I can beaking D. I wish I were a king
gt : [ wish + I+ were + object
s@an The correct sentence T I wish I were a king.
Ans : D,




21. @3S ARdR WY 4 uF | TR R T T ey

40 coM® TEA?
A. 0.0016 C B. 0.016 C
D.16x10° C

C.15%x10°% ¢

3 ki . :
] SRR @R I TR T @ 4 I IS T O B
EUIECH

A. o9 goF
C. R =

B. «1g o=
_D. R ot -

23. @ GWF (W 5 PN CFEE AN TR > /e @t
stfERer zmon 5 FED 1 e I R, (BN CHFGIR| Wi IS

A. s TR B. > it

D @R A1

24. Fa D S oW Ty

AW B C.afww D,

26. 93 AC 36T € Rge soeif® 20V ¢ M€ eremat
324, @ w6 e sPR o daER wrre wf
0 FE?
A. 10AW2V,3.1 A
C.102V,3.1A

B.10v2V,3.0 A
D.10AW2V,30A

27, 3l e wieR e IPTE r | T e x Iy G
T Y T 0 I R Ry v e, R R e
A, rx/(2x-1) B. 2rx/(2x-T1)

C. rx/(x—r D. r/(x-2r

s. N g A MRS @RI @ et EdmeR RIGeR

1

A m= f,f, B.m=—f-;€
C.m= -f-b- D.m= f‘—
fe fO

. _mﬁmﬁmnaﬁmu
WMImAmummAlﬁmw

A. 1.90 mA B.1.90 A

C. 0.1 mA D.0.1 A

30. s = (%P +3t]WMWMM| 4s

o7 Ay @t 3o
A 8 uzs B. 6 g¥=
C. 10 93= D.Zm

31, mummmwwmr
A. 60° B. 90°




2
32. wﬁ»’-%uw«hﬂm7&knvsu.wm-

A. JBFR e Afedics awfied a0
B. Toigeie % s emfed a0
C. wfegeene «fad cere T

D. @RbE 73

A. vfa s B. 3vf Immeifes
C. T srpetfes D. 3y smpeifes

N} TR n 72 kmh! efre W et few
IR G 4 ms T JERR A0 P I
A. 400 B. 200

C.500

D. 1000

36. FPS %08 NTP (% %05 3 21
A. 950 f/sec B. 1090 ft/sec
C. 332 fijsec D. 1190 ft/sec

@ T qE 0.9s @ =W B W 3@ | Gy
TR ovef I
A. 0.80nm
C. 0.80cm

B. 0.80mm
D. 0.80m

T 20°C wemmam @ ISR @ 20Q | @b 197
0°C s 20V Rex aven o < e @7 7y faem
e &aIeER T o7 [Foia St o 0.0043°C ']

A . lL1A
C.1.543 A

B. 0.543 A
D. 0.543 mA

39, 100 caTs = SiEa (W ¢F W g Fw 90x 10° B

TG SRS T o ufir @ 6
A 1144 A B.2.144 A
D. 144 A

C.0.144 A

0 i p — n T 0.9V Re 16 e s ofgR 2
“iheqt o 10 mA =R 1.1V Rs7 *iday emmt 3@ i

IR #ASH 7T 25 mA | WO QY 387
A 0.01Q B. 13.33Q2
D. 0.1333Q

C. 13330

¥R &7 ¢ e 1T e e 3 W Peew T
o 3P Fon e 9% o e 200 ¢ 300
T OTH | o TR (OIS e el 3s?

A.4:9 B.1:4

Gl D.9:4

28 x- 9 @ (-5, —7) 4TS (4, k) Rmfba vy wwm g k-
a7 I R 3
A. -65/7 B. 5/7 ;

- C.7/5 D. -7/65




| = sreradm ww 2T Tl «fe won (2, 3) R
afefes 22 | crfba wilfiead A=
A.2x+3y=10 B.3x+2y=12
C.x+y=2 D.x+y=3

4x — 2y + 7 = 0 vrerm S anw @3 R Refa sa
(2,3) 9 (-2, 4) R =2 cove wrvedY |

A (3.4 B. (0, 7/2)
CC.12,0) D. (-1, %)

4s5. Zx—y 3@““@!@@?{3,—2)%&2,9)
o 2P P woar e | 33 e P |
A X+y+3x+12y+2=0
B.2x* - ¥+ 3x - 2y=0

46 1, 2) mxﬁﬁt 3 W x- TS =f I | y- ww

TS ot 6 ot et con a o fda @ |
A 33 B. 32
C. 43

D. 243

47. T R o (1, z)wuﬂmmwww
“Ff:ﬂh!fiﬂl{dhﬂllﬂllﬁ#'ﬂl

A.x +yz+x+2y+3 0

B o 3 Sergrem wlien Pfa v T S (12, 0)
TR TR 8 IFF |

AL il al ;e S
4 4 9 16
2 2 b5 2

o  » e

49. p- & TW FE TN pi—2j+kew 2pi—pj- 4k 9]
mm«-ﬂm

I axin(x) + besinx @7 w3 Ay =7 |
A. b{l +In(x)} + ae* (cosx + sinx)
B. a{l + In(x)} + be" (cosx + sinx)
C.a{l + In(®)} - be" (oosx+smx)

. 3 G AR A 200 et I Gi6 GO
Tt T | WRE 276 @ I G w9 f et
T | g et By

B, 128

A. 114 C.124 D. 196




M k- IFIT Ty - 6x -1 +k2x+1) =0

TN X —6x— 1 +k(2x+1)=0
= x*+2k-6)x+(k-1)=0
e o 7, (2k - 6)° - 4.1 (k—-1)=0
= 4" - 24k + 36— 4k +4=0=>4K* - 28k +40=0
=K -7k+10=0=>(k-5)(k-2)=0=k=5,2

it o 72 i T ;
A. 512 B. 15 5% 12 —(lﬁ -—l)——g—-
C. 16 12 D. 6 5ot 2

10x4

Ans : A.
-] llmu{‘ .

0
}Eﬁ"l PQ- 93 9 67

4 5 =3
A.[-3 1 6] B.[1 6 -3]
C.[1 3 6] D[61—3]
e LR 1][ 5 —'3]'- '.
=244 -4+5 0-3]= [6 1 _31
Ans : D.

54. AW MAW W NI FRRM T IW 0, 3. 5 6,8

:2016-2017 (332)

(10° - 1%35-1{—(10’* 1)- n]»

Ans._D._

58, 3 o3 3@ TS @ T A ¢ 7 S IS
(TSE STTH WY | ST O S0 I FACS 18 T
A T ¢ ¥ ST ST IO FICS TS APE?

A. %220 fam, 43 35 = B. % 30 fiw, <2 45 fa=
C. 93 40 fim, <3 60 7= D. 3¢ 50 A=, 242 75 =
T :F > x4 LS x
7R b e o L B I
et Ee—E = —
x - 1.5% 18 ol dntueld

@ T e, 30

o FACS I3, 15x=15x30 45 fm
Ans : B.

59. WMSﬂﬁ@EMWN@HO?’BWW
Wi wora fice o1 A - errefba et @ Wi

30

]

:D.
55. ALGEBRA % 3fern uz eftama 30 =@ fo

weaTe g 4000-G7 (5T TG FSETA! Aey! 45w A T2 R VY 367
A. 120 B. 72 A. 130 36 B. 170 35
C. 148 D. 168 C.70%% D. 120 3%
I : 4000 7 BT IG BR WA ey A [ : AB=50F% BC=120%% A
=P;x3=72 AC? =BC? + AB? = (120% + 50°)
W, 45 SRR el = *Ps — ‘Py = 96 5 AC=130%5 50%%
L GRS e = 72+96——168ﬁ1 Ans : A, fei B

60. T = *= % (oG At a, b @R ¢ G NG a/3 G G
@5 =1, o fNwa W ;A R @ earen?

1}’ s

..'x‘;' ﬂm= “CS 2!]—5 (_ 4

Ans:D.
57. 4+ 44+ 444 + ........ SRA n-oF 6y cem Rfa =)

10
A. 4/9{1/9(10"-1)-n} B. {E (10"+1)—n}

Ol Ol&

4 1 . . 0 .
C.3 {3 10°-D+n} D.g {g (10°~1)-n}

Foarnt g g = 1o w31 T2 A. A is prime B. A is zero
A. 60 B. 95 €135 D. 120 C. A is negative D. A is positive
G : ¥ e = °Py + Py x 3= 135 [Ans: C. : |
Ans : C. - 61. @A ={x - ¥<x<1l/} axB = AN
56. {sz _L) - fgfere X - O (@A | negative numbers} ®&® B/A =?
4x A. All negative numbers B. All positive numbers
A. 8/231 B. 6/241 3 3
lS— P.ox<
C.241/7 D. -231/8 A A
TN+ AR : (ax” + bx)" R Rgfere x° w1 = M : B/A ={x] All negative nmnbm}-{"i'%{x{l—ﬁl}
°C,. e b lr=" ) Qe
2x11-7 5 r S_A
@A, T -2—(—0- -5 Ans: C.

1 JF TR 1!

e’ ffRmteTs-az «wen
I FRTS GFA@ FEIID

¢ @@ - C-Unit ¢ 5% - A Unit
¢ AW - B Unit




62. ®A={x|x—1|< / , B={x| All positive numbers} 68. 1 (a + 2x)° TEDA ﬁ?ﬁ? X 7 72 80 T, O a

C={xj0<x<Ll},s=mm(ANnB)UC=?

A x<l1.1 B.x>1.1
C.& D.0<x<1.1
1 1
I A= REx-l<—=}={——<x-1<—
X x=1= } G o
={—9—<x<£}={x|0.9<x<l.l}
10 10

B = {x| All positive numbers} = {0 < x < oo}
C={x]0<x<1.1}
AnB={09<x<L1} N {0<x<o}={09<x<11}
ANB)UC={09<x<11} u{0<x<1}={0<x<11}
Ans : D.
63. -3 <4 —7x <18, Foidw x ¢ T TI:
A 0sx=-] B.=25x<-1
C.-2=2xx<1 D.-2<x=1
PAT: 3<4-Tx<18 = -T<-Tx<14
=12x>-2=-2<x=1

Ans: D
64. W P @3 integer 7Y T G P 7 THGTIR 1A
9 wiat Fsreice Freten <@ oigm wa @ e Jer?

A. 98] <P <985 B. P is divisible by 3
C.P=366 D.p<9
9 9
g :27 =22+ 7=9=> 3=1::>§=3
8l=8+1=9= %=1=>§=3

Ans : B.
65. T x" = 1 SRw Awsa (v TS ey
A. Only one root: x=1 B. Two different roots
C. Three different roots  D. Solution not possible

gt P =1=>x=11

PN : AR, (x — 1) =0 = x = | T ST A% A |
P =31+ 41-31-3+4-3>-1
Ans : D.

Ans : B.

66. T polynomial ¥ x° —3x+4x-—‘%c&(x—l} _
o ot =t T ST ST e
A. -8 B.1 C.0 D. -1

2016-2017 (333)

7 ¥ TS

A+l B. +2

€1 D.3
W=Mﬂ1=(ax“’+bxk)"nﬂ§ﬁgﬁt€x"aawﬁﬁ=
mxn-p,

m-k
320> 802’ =80 =>a=+1

nC,. & B G, 1=

wéwre, °Cya’ 1.2 =
Ans: A,

69. a x (V7+2) = 3 x (7 -2) et wepra oo
@RG o2

A.3<a<7?
C. a 1s negative

B.a<2
D.2l<a<22

[ : a x (ﬁ+2)=3x(ﬁ_z):> aﬁ;}ﬁ;)
.a=0417
Ans B.

nﬁmmmmmww 0)s
(0 ~3) T iR “AreR e e 3e?

y=- B.x=0
(, x=3 D.x=-3
it : @S SP = PM =3
- SM=6
e R AlERd, y = —6

Ans : B.
Ul o “"Res et y' - dy + 4 = 8x — 16 W&
ToTH TAE 97

A.(2,0)

C. (0, 4)
Iy -4y +4=8x-16
=(y-2) =8(x-2)
= (y-2)7=42.(x-2)
= Y?=4AX
. Bowm (X, Y) = (A, 0)
=((x-2,y-2)=(20)
L EY=36G2)

Ans : B.

B.(4,2)
D. (0, 2)

\9
67. £2x+3—13—] Fiela Rgfen x e =W @Ebdr
X

A.2 B. 4 (345 D. 6
Gt : BIRT : (ax™ + bx")" ¥z fagfere (r+ 1)

=[mxn +1} o o x 4fEns |

m-k
1x9
1+2
LxMEAm=3+ 1) o= 4‘!‘“1?
Ans B.

G, T = =%

Tkg @R 8kg oW 4t ™ @FF e fmrte =
w13 kg 959 &, 1 467 738 @1 For

A. 0 degree B. 45 degree
C. 60 degree D. Not listed here
Mt : R = P* + Q° + 2PQcosa

= 2PQcosa. = R* — P - Q?
—=2xTx8xcosot=13" -7 -8
Soa=60°

Ans: C.




B e e Reqemn (4, 0), (0, 0) @ (0, 4) T
fargafos wrrew e?

A.16 B.2
C.8 D. 32
114 0 0 4
sudsests "z"fo 0 4 o‘
1 |
=3 10+0+0-16+0+0|=8
Ans: C.
3tan’0 = 1 eef® s Fa O G2 ST S HGRY
T fsa by
A-HT‘“L% B. Zmri%
C.an+(-1)3 D.2nm+%
T 30’0 = 1= tand= —— = tan = = Gepp s &

Ans: A. :
75. =W <f 39 9.8 m/sec @t 30 R et 9.8 Rdrw Tfw
BOE B e et T 2ot | Rie® e woqe b

e Agrar
A 519m B.7.67m
C.49.56 m D.294m

5 98=-98xsin30°xt+ % 9.8)¢

::’t"‘—t—2=0:>t==“”/6
2.1
=200
-, G wfe@e 5o = u cos 0 x t _
=9.8x¢c0s30°x2=1697m

Ans : Blank.
76. <30 W whEm 30 B wh wre W NG 5.5 qw

Rreme 50 T «fRfte Ty 7o

A. 11 B.5.5

C.2.75 D. 50
W:M:ﬁ;mmxbou

MG x AeWI®F  ¢.¢ % go

= AN = Yoo Yoo

Ans: C,

=2

:2016-2017 (334)

i 0 e i TR 12 Pifeifba et «fifirs gy wor
A.5.78 B. 2.56
C.22.56 D. 11.91

w:’m: %:65

e g = (1769 £(2-6.5) +....4 (12-6.5)

12
2x(5.5" +4.5 +3.52 +2.5% +1.5% +0.5%)
= =345
12
Ans : Blank.
7809
EB=fA=|2 1 7 R C = A x L3 R0 C3;=?
16 5 2
A7 B.7.3
C.8 D.5
T7 8.91f1 0.0} [7 8.9
Wt €=2 1.7{{0 1 o|=|2 1 7
R 6.5 2100 00 ) G5
£y oot =i
Ans : D.

79. T COBT A = 3i+6)+ 2k T S y wF e coMABY
T et TS
A. 60° B. 30°
C. 90° D. 0°
TN : (SFAGT ANY y ST TGAS! (DI,
6

. Y J
| = cos (— =28.93°
332+61-+'(-_ﬁ)2 - V47
Ans : B.

Y W% (X0F (4, 2) Reaw w3, (6, 2) R (a, 2) W
TGRS Ay fRed T a @7 W Ty
A.6or8 B.40or2

CRIE D. v3/2
[T : y TF X (4, 2) wmEg =4
5 2(6-)2+(2-2)% =4 = (6—af=4
=6-a=+2=a=6+2

Sa=8.6
Ans : A,

0 =cos'

G131 fyfRvTieTE-9z wrewist e fre
NG 21T 9. Written s
¢ @I - A Unit ¢ 9% - C Unit
¢ fes @ f@s 1% -B Unit + D Unit




